














Statements: 

No cap is a shirt. 

Some trousers are caps. 

All belts are shirts. 

Conclusions: 

I. No cap is a trouser. 

II. All caps being trousers is a 
possibility.

EXAMPLE

कथन: 
कोई कैप शर्ट नह ीं है।

कुछ र्र ाउजर कैप हैं।

सभ बेल्ट शर्ट हैं।

ननष्कर्ट: 
कोई कैप र्र ाउजर नह ीं है।

सभ कैप के र्र ाउजर होने क 

सींभावना है।



Statements: 

No cap is a shirt. 

Some trousers are caps. 

All belts are shirts. 

Conclusions: 

I. No cap is a trouser. 

II. All caps being trousers is a 
possibility.

EXAMPLE



Find the ODD one(?)

A. 961
B. 1521
C. 1856
D. 1369



Find the ODD one(?)

A. 45
B. 42
C. 49
D. 35



Find the ODD one(?)

A. 81 : 243
B. 16 : 64
C. 64 : 192
D. 25 : 75



Find the ODD one(?)

A. 24
B. 60
C. 124
D. 210



Find the ODD one(?)

A. 600
B. 216
C. 1296
D. 36



Find the ODD one(?)

A. 4115
B. 7211
C. 5501
D. 3461



Find the ODD one(?)

A. 246
B. 216
C. 527
D. 639



Find the ODD one(?)

A. 361
B. 484
C. 566
D. 529



Find the ODD one(?)

A. 7859
B. 8432
C. 9545
D. 7647



Find the ODD one(?)

A. 2308
B. 3412
C. 4520
D. 6742



Find the ODD one(?)

A. 15 , 6
B. 18 , 5
C. 10 , 9
D. 25 , 4



Q In each of the following question, four words have been given out of 

which three are alike in some manner while the fourth one is different. 

Choose the odd one.

(A) Pear        (B) Apple

(C) Guava (D) Orange

EXAMPLE

प्र.ननम्ननिखित में से प्रते्यक प्रश्न में, चार शब्द निए गए हैं नजनमें से
त न समान रूप से एक हैं जबनक चौथा एक नवनभन्न है। निए गए
नवकल्ोींमें से नवनभन्न का चयन करें ।

(A) नाशपात (B) सेब
(C) अमरूि (D) सींतरा



QIn each of the following question, four words have been given out of which 

three are alike in some manner while the fourth one is different. Choose the 

odd one.

(A) Deck        (B) Quay 

(C) Stem (D) Bow

EXAMPLE

प्र.ननम्ननिखित में से प्रते्यक प्रश्न में, चार शब्द निए गए हैं नजनमें से त न समान रूप से
एक हैं जबनक चौथा एक नवनभन्न है। निए गए नवकल्ोींमें से नवनभन्न का चयन करें ।

(A) डेक (B) के्व
(C) से्टम (D) बो



QIn each of the following question, four words have been given out of which 

three are alike in some manner while the fourth one is different. Choose the 

odd one. 

(A) Mustard      (B) Onion

(C) Olive (D) Sesame

EXAMPLE

प्र.ननम्ननिखित में से प्रते्यक प्रश्न में, चार शब्द निए गए हैं नजनमें से त न समान रूप से
एक हैं जबनक चौथा एक नवनभन्न है। निए गए नवकल्ोींमें से नवनभन्न का चयन करें ।

(A) सरसो ीं (B) प्याज
(C) जैतून (D) नति



Q. In each of the following question, four words have been given out of 

which three are alike in some manner while the fourth one is different. 

Choose the odd one.  

(A) Tomato       (B) Brinjal

(C) Cucumber (D) Potato

EXAMPLE

प्र.ननम्ननिखित में से प्रते्यक प्रश्न में, चार शब्द निए गए हैं नजनमें से त न समान रूप से
एक है जबनक चौथा एक नवनभन्न है। निए गए नवकल्ोींमें से नवनभन्न का चयन करें ।

(A) र्मार्र (B) बैंगन
(C ) ककड (D) आिू



Q.In each of the following question, four pairs of words are given out of 

which three pairs bear a certain common relationship. Choose the pair, in 

which the words are differently related.  

(A) Gold : Ornaments            (B) Cloth : Garments

(C) Leather : Footwear   (D) Earthen pots : Clay

EXAMPLE

प्र.ननम्ननिखित में से प्रते्यक प्रश्न में, शब्दोीं के चार जोडे निए जाते हैं नजनमें से त न जोडे

एक सामान्य सींबींध रिते हैं। वो जोडे चुनें, नजसमें शब्द अिग-अिग हैं।

(A) सोना: गहने (B) कपडा: गारमेंर््स

(C) चमडा: जूते (D) नमट्ट के बतटन: नमट्ट 



QIn each of the following question, four numbers are given, out of which 

three are alike in some manner while the fourth one is different. Choose the 

odd one.

(A) 2048 (B) 32 

(C) 56    (D) 128

EXAMPLE

प्र.ननम्ननिखित में से प्रते्यक प्रश्न में, चार सींख्याएीं ि गय हैं, नजनमें से त न एक जैसे हैं, 
जबनक चौथा एक अिग है। निए गए नवकल्ोींमें से नवनभन्न का चयन करें ।

(A) 2048 (B) 32 
(C) 56    (D) 128



QIn each of the following question, four numbers are given, out of which 

three are alike in some manner while the fourth one is different. Choose the 

odd one.

(A) 144 (B) 169 

(C) 256 (D) 288

EXAMPLE

प्र.ननम्ननिखित में से प्रते्यक प्रश्न में, चार सींख्याएीं ि गय हैं, नजनमें से त न एक जैसे हैं, 
जबनक चौथा एक अिग है। निए गए नवकल्ोींमें से नवनभन्न का चयन करें ।

(A) 144 (B) 169 
(C) 256 (D) 288


